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1. An interior designer cuts a 14 m rope into 20 equal pieces. Calculate the length of each piece.

A. 0.7 cm

B. 1.4 cm

C. 70 cm

D. 140 cm

2. A drawer is 11 inches wide. Estimate this width in centimetres.

A. 4

B. 9

C. 14

D. 25
3. A canoe often has a wooden yoke across its widest part so that it may be carried upside down on a person’s shoulders. A boat builder must trim a 36" yoke to fit into a canoe 32½  " across.  How much wood should be trimmed from each end so that the centre of the yoke will be over the centreline of the canoe?
[image: image9.wmf]A. 1¾  "

B. 3½ "

C. 16¼"

D. 18"
4. Baseboards are to be installed on all the walls of a rectangular-shaped room 24 ' – 4" long and 18' – 6" wide. The room has two 31" openings that do not require baseboards.  Which calculation could be used to find the total length of baseboards in feet?
A. 2412418126231

B. 2[( 24•12 4] + 18•12 6231
                            12

C.  24.318.52
              12

D. 23112244 18126
5. A walk-in closet is 4 m wide and 5 m long. The owner wants to enlarge this room to turn it into an office. What changes should he make to exactly double the area of the closet?

A. double the width

B. double both the length and the width

C. extend both the length and the width by 1 metre

D. extend both the length and the width by 2 metres

6. In the diagram below, determine the length of x.
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A. 1 cm

B. 5 cm

C. 25 cm

D. √313 cm
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7. A radio broadcast tower is supported by three cables, as shown in the diagram below.  What is the measure of angle x ?
A. 34

B. 46

C. 56

D. 146
8. Which angle drawn below measures approximately 135?
[image: image42.wmf]
9. A 3 kg bag of sugar costs $6.00. A 500 g box of sugar cubes costs $2.50. A estaurant owner is considering which packaging he should buy for customers to use in their tea and coffee. Which of the following statements are true?
[image: image12.wmf]A. III only

B. I and II only

C. II and III only

D. I, II and III

10. One summer, the cost of oranges was $0.50/lb. The next summer the cost was $0.75/lb.  What was the percent increase?

A. 25

B. 50

C. 125

D. 150
[image: image13.wmf]11. Calculate the total number of hours and minutes Jim worked the week of July 13.
A. 23 hours 35 minutes

B. 23 hours 80 minutes

C. 24 hours 15 minutes

D. 24 hours 25 minutes
12. Deshawn earns a 15% commission on her total sales. One week her sales totalled $4200.  What was her total commission?

A. $210

B. $280

C. $420

D. $630
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Value: 48 marks Suggested Time: 90 minutes

INSTRUCTIONS: For each question, select the best answer and record your choice on the white
Answer Sheet provided. Using an HB pencil, completely fill in the bubble that has
the letter corresponding to your answer.





13. A hand-held scientific calculator is measured and the volume is found to be 101.

What units are likely to be included with this answer?

A. mm2
B. cm3
C. m3
D. L

[image: image15.wmf]14. What measurement is shown on the micrometer?
A. 0.25 mm

B. 12.00 mm

C. 12.50 mm

D. 12.75 mm

15. The average temperature in the city of Regina is -28 degrees Celsius. What is the equivalent temperature in degrees Fahrenheit?

A. 7.2

B. -18.4

C. -33.3

D. -44.0
[image: image16.wmf]16. Eight foot long, 2 x4 lumber used in building picnic tables is cut according to a pattern.  A 4' – 5" length is cut, then a 1' – 4" length, then a 1' – 7" length. Each cut makes a ⅛  " kerf.  What is the amount of wood remaining after the three lengths have been cut?

A. 3 ⅝ "

B. 7 ⅝ "

C. 7 ⅞ "

D. 8"
17. Two barrels are filled with oil. One holds 50 US quarts and the other one holds 50 British quarts.  What is the difference between their volumes in litres?

A. 0.18

B. 9

C. 10

D. They contain the same amounts.

18. On a ruler measuring in inches, what measure is one-quarter the distance between the 3 ¾ " mark and the 5" mark?
[image: image3.wmf]
19. Using the ruler below, determine the length of the pencil.
[image: image4.wmf]
[image: image17.wmf]20. The maximum size (length + width + height) allowed per fare-paying customer for baggage on an aircraft is 157 cm.  Which of the following pieces of luggage would be over the size allowance? 
21. A carpet cleaner charges by the square foot. Use the diagram below to find the total carpet area.
[image: image18.wmf]
A. 168.0 sq ft

B. 174.3 sq ft

C. 180.6 sq ft

D. 218.3 sq ft
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22. A patio table is in the shape of a hexagon as drawn below. Calculate the area of the table.
A. 1689.5 cm2
B. 2294 cm2
C. 3379 cm2
D. 4464 cm2
23. The area of the diagram below is 25 ½ square feet. What is its width in inches?
[image: image20.wmf]
A. 1½
B. 8

C. 17

D. 18
[image: image21.wmf]24. The prism shown has three visible faces. Determine which solution is reasonable to calculate the surface area of the visible faces.
A. 8 x82 x528 x4

B. 6 x83 x24 x68 x4

C. 26 x53 x84 x8

D. 28 x45 x62 x3
25. Andrew says to Susan “I’m going to bisect this right angle into three angles of 30° each.”   Which description below matches his statement?

A. It is correct because to bisect means to divide equally.

B. It is incorrect because to bisect means to divide in half.

C. It is correct because 3 angles of 30° each add up to a 90° angle.

D. It is incorrect because 3 angles of 30° do not form a right angle.
26. Given the diagram below, which set of statements is correct?
[image: image22.wmf][image: image23.wmf]
A. I and II only

B. II and III only

C. II and IV only

D. III and IV only
27. Which of the following situations can be solved using trigonometry?
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28. The two tents below are similar. What is the height of the smaller tent?
[image: image24.wmf]A. 2.0 feet

B. 3.3 feet

C. 4.8 feet

D. 6.0 feet
[image: image25.png]


29. A small soccer field is to be enlarged, though its shape will stay the same. What will be the area of the new field?
A. 2100 sq yd

B. 2300 sq yd

C. 4215 sq yd

D. 5100 sq yd

[image: image26.png]


30. What is the length of AD to confirm that ABCD is a right trapezoid?
A. 3 units

B. 4 units

C. 6 units

D. 13 units
[image: image27.wmf]
31. Use a ruler to measure the outside diameter of the pipe diagram below. Use your measurement to estimate the outside circumference of the pipe.
A. 6 cm

B. 9 cm

C. 12 cm

D. 27 cm

32. Mani left his house and walked 1.3 km due east and then 2.6 km due south. What is the straight line distance between Mani and his house?

A. 1.9 km

B. 2.8 km

C. 2.9 km

D. 3.9 km

33. Which statement is always true about the adjacent side in a right triangle?

A. The adjacent side is opposite the right angle.

B. The adjacent side is across from the given angle.

C. The adjacent side is the shortest side in the right triangle.

D. The adjacent side meets the hypotenuse at the given angle.
34. In the diagram below, determine sin <B .
[image: image28.png]Note: This diagram is actual size.




A. b
     c

B. b
    a

C. a
     c

D. a
    b
35. As a rescue helicopter approaches a boat in distress, the pilot and the rescue technician on the ladder observe the boat from different angles of depression. As the helicopter moves forward, how will these angles change?
[image: image6.wmf]
A. θ1 will increase; θ 2 will decrease

B. θ 1 will decrease; θ 2 will increase

C. θ 1 will increase; θ 2 will increase

D. θ 1 will decrease; θ 2 will decrease
36. Janelle and Mandeep are standing on opposite sides of a cell phone tower. Janelle is standing 105 m from the tower. Her angle of elevation to the tower is 23. Mandeep’s angle of elevation to the tower is 36. How far from the base of the tower is he standing?
[image: image29.wmf]A. 33.2 m

B. 36.1 m

C. 56.5 m

D. 61.3 m
37. Bob is standing on a surveyors mark. He measures a 61° angle of elevation to the top of a building 72 m tall. How far away from the base of the building is the surveyors mark?

A. 40 m

B. 64 m

C. 82 m

D. 130 m
[image: image30.wmf]
38. In the diagram below which line is:

i) perpendicular to l1

ii) parallel to l1 ?
A. i) none ii) l2

B. i) none ii) none

C. i) m1 ii) l2

D. i) m2 ii) none
39. Gaugan attempted to complete a half rotation on his skateboard. He managed to turn 85.  How many more degrees were needed to complete the half rotation?

A. 5

B. 15

C. 95

D. 275
40. Two pipes are installed parallel but offset as shown below. To join them, an “elbow” pipe will be custom made. What should be the measure of <a ?

[image: image31.wmf]
A. 22°

B. 112°

C. 114°

D. 156°
[image: image32.wmf]
41. Which angles measure 60° in the diagram below?
A. <a and <b only

B. <d and <g only

C. <e and <f only

D. <a, <b, <e and <f only
42. A footbridge is supported by diagonal braces that form a handrail, as shown below.

[image: image33.wmf]Which pair of angles could be compared to determine if the rail is parallel to the bridge deck?
A. <b and <g

B. <c and <h

C. <e and <h

D. <f and <g
[image: image34.wmf]43. The template below is used to make an Amish quilt. Which of the following types of angles is not represented within the quilt template below?
A. acute

B. reflex

C. obtuse

D. straight
44. To bisect <DBG, in what order would a compass tip touch the points?
[image: image35.wmf][image: image36.wmf]A. D, H, G

B. B, D, G

C. E, D, H

D. B, D, F
45. Identify an acute angle, an obtuse angle and a reflex angle from the diagrams below.

[image: image7.wmf]
46. A sailboat heels (tips slightly) when the wind fills the sail. The edge of the sail makes a 78° angle with the water when the wind is calm. What degree of heel will make the sail edge perpendicular to the water in the diagram below?
[image: image37.png]Compass tip!
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A. 12°

B. 78°

C. 88°

D. 102°
47. At Computerland, 8 gigabytes of RAM costs $259. How would the cost of 20 gigabytes of RAM be calculated based on the amount of RAM?

A. 259  8
     20       x

B. 259  20
      X        8

C. 259  x
      20      8

D. 259  x
      8       20
48. For the end of the year party, Mark and Vic bought soda pop.
Whose purchase was better and by how much?

[image: image38.wmf]A. Vic by $0.85

B. Mark by $0.12/L

C. Vic by $0.50/L

D. Both purchases are equal
49. A Canadian audio engineer hires an editor in Denmark who charges 348 krone per hour.  Use the table below to determine the editor’s hourly rate in Canadian dollars.
[image: image39.wmf] 

A. 69.57

B. 233.33

C. 519.01

D. 1740.87
50. In 2008, Sasha was travelling from Aberdeen, Scotland, to Toronto, Canada. She changed her 545.45 British pounds (GBP) to Canadian dollars (CAD) upon her arrival. How many  Canadian dollars did she receive? (1 GPB = 2.20 CAD)

A. 247.93

B. 765.00

C. 1 200.00

D. 12 000.00
51. Marnie typically works 25 hours per week and earns $11.75 per hour. The manager offered Marnie an 8% raise. What will be Marnie’s new hourly rate?

A. $0.94

B. $2.00

C. $12.69

D. $13.75

52. Ling earns $12 per hour for a 40-hour workweek. She is paid time and a half for every hour worked over 40 hours during a week. Ling earned $930 last week. How many overtime hours did she work?

A. 25

B. 37.5

C. 52

D. 77.5

53. A waiter earns $12.85 per hour and must give 10% of his tips to the kitchen staff. He worked 8 hours last Saturday and made $238 in tips. What was his gross pay for the shift?

A. $126.60

B. $250.85

C. $317.00

D. $340.80
54. In which situation would straight commission provide more income for the employee compared to earning a salary?

A. The product being sold is difficult to sell.

B. The product being sold has a small target market.

C. The employee selling the product is a good salesperson.

D. The employee selling the product is an inexperienced salesperson.

55. The cost of running a herring boat is $8700 for 2 weeks. The catch is sold for $0.12 per pound. How many pounds of herring must be caught and sold in two weeks in order to break even?

A. 725

B. 1 044

C. 10 400

D. 72 500
56. Sandra earns 8% of her sales. Last week she sold $12 000 worth of flooring. What were her weekly earnings?

A. $96

B. $500

C. $960

D. $9600

57. Todd sells furniture and earns either $390.13 per week or 8½ % commission on his total weekly sales, whichever is greater. Given his sales were $4561.94, calculate Todd’s gross pay for the week.

A. $387.76

B. $390.13

C. $684.29

D. $777.89
58. A surveyor from Winnipeg is offered two jobs in British Columbia:
What is the difference in salaries after the one year increase?

[image: image40.wmf]A. $800

B. $1800

C. $4000

D. $6600
59. Jean-Claude’s gross pay is $410.12 weekly. His deductions are 23%. What amount is deducted weekly from his pay?

A. $9.43

B. $94.33

C. $315.79

D. $400.69

60. Sheryl earns an hourly wage of $9.30 and works 40 hours per week. She is assigned claim code 1. Calculate her weekly net pay.

A. $289.28

B. $318.43

C. $327.53

D. $339.95
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